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Note : This paper is of thirty five (35) marks containing 

three (03) sections A, B and C. Learners are 

required to attempt the questions contained in these 

sections according to the detailed instructions given 

therein. 

uksV % ;g iz’u i= iSarhl ¼35½ vadksa dk gS tks rhu ¼03½ [k.Mksa 

^d*] ^[k* rFkk ^x* esa foHkkftr gSA f’k{kkfFkZ;ksa dks bu 

[k.Mksa esa fn, x, foLr`r funsZ’kksa ds vuqlkj gh iz’uksa ds 

mŸkj nsus gSaA 

Section–A / [k.M&d 

(Long Answer Type Questions) / ¼nh?kZ mŸkjh; iz’u½ 

Note : Section „A‟ contains four (04) long answer type 

questions of seven and half  marks each. 

Learners are required to answer two (02) questions 

only. 
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uksV % [k.M ^d* esa pkj ¼04½ nh?kZ mŸkjh; iz’u fn;s x;s gSaA 

izR;sd iz’u ds fy, lk<+s lkr  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy nks ¼02½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is RNA ? Give an account of various types of 

RNA‟s with suitable examples. 

vkj- ,u- ,- D;k gS \ fofHkUu izdkj ds vkj- ,u- ,- dk 

mfpr mnkgj.kksa lfgr o.kZu dhft,A 

2. Describe the structure and functions of Golgi complex. 

xksYxh dk; dh lajpuk rFkk dk;ks± dk o.kZu dhft,A 

3. Give an account of the structure, chemical composition 

and types of a eukaryotic chromosome. 

;wdSfj;ksfVd xw.klw= dh lajpuk] dsfedy dEiksth’ku rFkk 

izdkj dk o.kZu dhft,A 

4. Who was Mendel ? Discuss the law of inheritance with 

suitable examples. 

es.My dkSu Fks \ vkuqoaf’kdh ds fu;eksa dks mnkgj.k lfgr 

le>kb,A 

Section–B / [k.M&[k 

(Short Answer Type Questions) / ¼y?kq mŸkjh; iz’u½ 

Note : Section „B‟ contains eight (08) short answer type 

questions of two and half 1
2

2  marks each. 

Learners are required to answer six (06) questions 

only.  
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uksV % [k.M ^[k* esa vkB ¼08½ y?kq mŸkjh; iz’u fn;s x;s gaSA 

izR;sd iz’u ds fy, <kbZ 1
2

2  vad fu/kkZfjr gSaA 

f’k{kkfFkZ;ksa dks buesa ls dsoy N% ¼06½ iz’uksa ds mŸkj nsus 

gSaA 

1. What is Unit membrane model ? Discuss in brief. 

;wfuV esEczsu ekWMy D;k gS \ laf{kIr esa o.kZu dhft,A 

2. Differentate between prokaryotic and eukaryotic cells. 

izksdSfj;ksfVd ,oa ;wdSfj;ksfVd dksf’kdk esa vUrj crkb,A 

3. What is crossing over ? Discuss in brief. 

ØkWflax vksoj D;k gS \ laf{kIr esa o.kZu dhft,A 

4. Why are lysosomes known as suicidals bags ? 

ykblkstksEl dks vkRe?kkrh cSx D;ksa dgrs gSa \ 

5. What are the importance features of genetic code ? 

tsusfVd dksM ds vko’;d xq.k D;k gSa \ 

6. What is Chromosomal Mutation ? Discuss in brief. 

xq.klw=h; E;wVs’ku D;k gS \ laf{kIr esa o.kZu dhft,A 

7. What is cytoplasmic inheritance ? Discuss in brief. 

lkbVksIykfTed oa’kkxfr D;k gS \ laf{kIr esa o.kZu dhft,A 

8. Differentiate between A, B, C and Z DNA. 

Z A, B, C ,oa Z DNA esa vUrj crkb,A 
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Section–C / [k.M&x 

(Objective Type Questions) / ¼oLrqfu”B iz’u½ 

Note : Section „C‟ contains ten (10) objective type 

questions of half 1
2

 mark each. All the questions 

of this section are compulsory. 

uksV % [k.M ^x* esa nl ¼10½ oLrqfu”B iz’u fn;s x;s gSaA izR;sd 

iz’u ds fy, vk/kk 1
2

vad fu/kkZfjr gSA bl [k.M ds 

lHkh iz’u vfuok;Z gSaA 

Choose the correct answer. 

lgh mŸkj dk p;u dhft,A 

1. Which of the following is not a divisional stage ? 

(a) Prophase 

(b) Interphase 

(c) Metaphase 

(d) Telophase 

fuEufyf[kr esa ls dkSu dksf’kdk foHkktu dk LVst ugha gS \ 

¼v½ izksQst 

¼c½ bUVjQst 

¼l½ esVkQst 

¼n½ VhyksQst 

2. Meiosis is a/an : 

(a) homotypic division 

(b) equatorial division 

(c) reduction division 

(d) None of the above 
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esvksfll gS % 

¼v½ gkseksfVfid foHkktu 

¼c½ bDohVksfj;y foHkktu 

¼l½ v/kZlw=h; foHkktu 

¼n½ mi;qZDr esa ls dksbZ ugha 

3. In protein synthesis the codon used as a start signal is : 

(a) UAA 

(b) CCA 

(c) AUG 

(d) GCA 

izksVhu la’ys”k.k fdl dksMkWu ls ‘kq: gksrk gS \ 

¼v½ UAA 

¼c½ CCA 

¼l½ AUG 

¼n½ GCA 

4. The number of chromosomes in monosomic condition 

is : 

(a) 2 2n   

(b) 2 1n   

(c) 2 1n   

(d) 2 3n   

eksukslksfed fLFkfRk esa xq.klw=ksa dh la[;k gksrh gS % 

¼v½ 2 2n  

¼c½ 2 1n  

¼l½ 2 1n  

¼n½ 2 3n  
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5. Genes located on y-chormosomes are : 

(a) mutant genes 

(b) sex-linked genes 

(c) autosomal genes 

(d) holandric genes 

y-xq.klw= ij fLFkr thUl dks dgrs gSa % 

¼v½ E;wVsaV thUl 

¼c½ lsDl&fyaDM thUl 

¼l½ vkWVkslksey thUl 

¼n½ gksysfUMªd thUl 

6. Which one is the example of cytoplasmic inheritance ?  

(a) Euglena 

(b) Protozoa 

(c) Paramecium 

(d) Plasmodium 

buesa ls dkSu lkbVksIykfTed vkuqoaf’kdh dk mnkgj.k gS \ 

¼v½ ;qXyhuk 

¼c½ izksVkstksvk 

¼l½ iSjkehfl;e 

¼n½ IykTeksfM;e 

7. Which of the following is the smallest RNA ? 

(a) m-RNA 

(b) t-RNA 

(c) Chromosomal RNA 

(d) Ribosomal RNA 
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lcls NksVk vkj- ,u- ,- gksrk gS % 

¼v½ m-vkj- ,u- ,- 

¼c½ t-vkj- ,u- ,- 

¼l½ Øksekslksey vkj- ,u- ,- 

¼n½ jkbckslksey vkj- ,u- ,- 

8. Average thickness of unit cell membrane is : 

(a) 5 Å 

(b) 25 Å 

(c) 75 Å 

(d) 250 Å 

Iyktk f>Yyh dh vkSlr eksVkbZ gS % 

¼v½ 5 Å 

¼c½ 25 Å 

¼l½ 75 Å 

¼n½ 250 Å 

9. The diameter of DNA molecule is : 

(a) 20 Å 

(b) 50 Å 

(c) 100 Å 

(d) 200 Å 

Mh- ,u- ,- ekWyhD;wy dk Mk;ehVj gksrk gS % 

¼v½ 20 Å 

¼c½ 50 Å 

¼l½ 100 Å 

¼n½ 200 Å 
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10. Distance between two DNA strands is : 

(a) 34 Å 

(b) 3.4 Å 

(c) 20 Å 

(d) 340 Å 

nks Mh- ,u- ,- LVSªUM ds chp txg gksrh gS % 

¼v½ 34 Å 

¼c½ 3-4 Å 

¼l½ 20 Å 

¼n½ 340 Å 
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